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1. Click the Exhibit button. 

 

A customer is deploying 25 A-WA2620E access points (APs) on each floor of a building 

that has three floors. Each floor has an A-WX5002 access controller (AC). You are 

deploying the first AP. The exhibit shows the CLI commands you have entered on the AC 

for bringing up a new AP with serial number 200. 

After approximately 30 seconds, the AP has not yet come online. 

What is a possible cause of this delay? 

A. The CLI service template commands are incorrect. 

B. LWAPP is not installed. 

C. The AP is updating its software configuration. 

D. The ESS interface is not fully defined. 

E. The AP information is incorrect. 

F. The radio configuration assigned the wrong 802.11n channel parameters. 

Answer: C 

 

2. Which type of packet does IACTP use to set up the data tunnel when the client is 

roaming between the HA and the FA? 

A. TCP 

B. IAPP 

C. Multicast 

D. Broadcast 

E. UDP 

F. IPSec 

Answer: E 

 

3. A customer wants to extend a network between offices without installing underground 

lines or extending overhead lines. Your solution for this customer will include Dynamic 

MESH. Which primary factors should you consider for this wireless network? (Select two.) 

A. distances between two points 

B. type of network traffic the local mesh will handle 

C. high-availability requirements 

D. what channels the access point needs to use 

E. length of cable needed to connect the antenna 

Answer: AC 

 

4. You are designing a customer's wireless network. What information is important for you 

to provide to RF Planner during the initial phase of design? (Select three.) 

A. cross floor coverage 

B. wall/ceiling placement of access points 

C. building material database 



D. the plan for 802.11n coverage as well as 802.11a/b/g coverage 

E. ceiling interference database 

F. interference modeling of GSM and CDMA networks 

G. capacity plan 

Answer: ACD 

 

5. A national real estate agency wants to deploy a wireless network for their employees in 

their small local branch offices. The primary applications that will be used on the network 

include the transfer of promotional material, which has a high amount of image and 

graphical data, and online meetings and webcasts. The agency data has been growing so 

much that they recently upgraded their broadband connection from a T3 to an OC-3 and 

the IT manager is worried that this is not sufficient. The IT manager is not on site very 

often and stressed the importance of reliability by saying, "Time is money and quick 

network access is very important.? 

You visit one of the largest branch locations and discover that it consists of twelve 10x8 ft 

open cubicles. You also discover several sources of interference while conducting a 

preliminary site survey. The customer's standard security system operates in the 2.4GHz 

band, one neighboring outdoor 802.11a WLAN, eight neighboring 802.11g deployments, 

and several users of Bluetooth headsets. 

Which configuration should you recommend? 

A. one access point set to 802.11n 40MHz channels in the 2.4GHz band 

B. two access points set to 802.11n 20MHz channels in the 2.4GHz band 

C. one access point set to 802.11n 40MHz channels in the 5GHz UNII 2 band 

D. two access points set to 802.11n 40MHz channels in the 5GHz UNII 1 band 

E. two access points set to 802.11n 20MHz channels in the 5GHz UNII 2 band 

Answer: D 


